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Problem Defined

 Water Quality Retrofit

 Located in Orange County

 Section 9 of Township 22 South, Range 29 East

 Bay Lake impaired for nutrients

 AMEC study completed in 2012 identified outfall from 

Heatherington Road as a significant source of pollutants

 Outfall receives runoff from 15.6 acres of mixed land use 

including single family residences, a church, a 

commercial property and vacant land.



Problem Defined

 The outfall is piped to lake with roadside swales draining 

to it

 A wet detention pond serves the church and commercial 

properties also discharges to the swales

 It is desired to reduce pollutant loads from this outfall

 A modular wetland system is proposed for this project

 Bold & Gold media will be used

 Vegetation will be used

 The system will be designed for a 5+ minute residence time



Project Vicinity Map



Site Map



Subbasin Map



Land Use Map



Soils Map



Impervious Area Map



Geoprocessing

 Clip soils and land use layers to project limits

 Use the intersection geoprocessing tool and perform an 

intersection with the clipped soils and landuse layers

 Perform another intersection with the new soils and land 

use intersection layer and the basins layer

 Finally, use the union geoprocessing tool and perform a 

union with the new soils, land use, and basins layer and 

the impervious area layer

 Export the attribute table from this new layer to Excel

 Determine CN value for each unique polygon



Soils, Land use, basins, and impervious 

area



Exported Attribute Table/ CN Lookup



EMC Determination

 The new EMC should be determined using a flow 

weighted average

 Can use CN and A

 This gives a better representation of the true EMC that a 

BMP will receive

 Runoff generation differences

 Imperviousness

 Area

 Version 8.0 of the BMPTRAINS Model does this 

automatically now!

𝐸𝑀𝐶𝐶𝑜𝑚𝑝 =
 𝐸𝑀𝐶 ∗ 𝐶𝑁 ∗ 𝐴

 𝐶𝑁 ∗ 𝐴


